PEETHERSE/N 1124 FEH 5 2 F B4rgasts® AE:401420A

KARES- i WAR -2 p

/ﬁj 9F5H R 9H6H B 9H7H BH= 9H8H R 9F9H B
w18 ekt e O ek WE |G |areE WE |28 [aras WE  |eE |aneE e
EE kT B AR IRt 2K6G
BB (QRC)+ Bk D 4 <2 /A 17125 (600g) B
Z#EEEE(QRC) g RO E<+2>(640g) HS R T4k 0.6KG EREZ(QRO)+ -
B momTerRRaeis 5 |SBEEER A< L P A 5
; g S1EH(CAS)<E T > Tc LB 1KG ;ui —E@EHI(CAS)(1K)<E T & B> };; B2 R FR<E % >(500ml) Eﬁ
ﬁf o " 7 o
£98 20A
AT ZEE]44(QRC) #12E=)/\T (QRC) KFREE B4
SEE RS 2Ok BE g [BERCcAs<EtES> R
_ | F |#miaro+ p |EZI(CAS)1K)<iEiE> £ |aitscas<E+ 85> 19 |#/m(aro)< 5>
B = M [®#E T Har0 = e
|0 - 16 E3]
= = | B RR(cAs) <= > 15 I
PEE e 0.2KG i
% | o [manEwEE) o |[hexEm NEETE
—wiE B4 . [aET# R AEZE(QRO)+
- A | EHE<HIE> 2 |BINER)(EK)QRO) 5 | R 03KG| 7z |AIZEEAT (QRC)
o | @ 8= L 0.3KG Za £5HE(QRC) R
2 |tg = # hax % |%7(QrO<EB>
ER<EE> ” E5EA T +(QRO)
k| (529 K |k 2171 404\
R| g |u#n R
] g ] e |ER e [ER B
% SERINE 53 SERIE 52 SERIE 45 SRR 53
Y TEEANE 13 TEEANE 2 TEEANE 1.4 TEEAE 2
= SRS 3 S 3 SR 3 SHF 31
N B 17 B 12 B 1.4 AT 12
o LRE 1 K K 1 K
EHECRFR) 727 EHECKT) 679 EHECKT) 650 EHECKF) 691
ESEE R T HEfT Rk




